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es like Roll No., Registration No., Question Booklet No., Exam Centre Code (of 05 Digits),
d Shift etc. very carefully on the OMR Answer Sheet, using Black/Blue ball point pen.
fQuestion Booklet No. in OMR Answer Sheet will cause wrong examination result and
rself will be responsible for the same.
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At the start of the examination check your Question Booklet and OMR Answer Sheet and ensure that all the questions
from S.No. 1 to last S.No. 100 are printed and all the pages are present in the Question Booklet. In case of any discrepancy

the candidate should replace the Question Booklet and OMR Answer Sheet from the invigilator. No objection in this
regard will be entertained after five minutes of start of examination.

W Al & S AR | N we § s wEwe ¥ |

Answer all questjons. All questions carry equal marks. ‘ :

VIR FTT Pl elel T 1 SR AT | MR 3R T ¥ i SR 3 A <40 3 W I SR B T HA e
T TS S & Y eI 3id Brel SIET | W B SgaRd BieY WY 3k R e |

Only one answer is to be given for each question. Overwriting and marking multiple answers will be considered as wrong
answers and 1/4 mark will be deducted for each such answer. Leaving a question unanswered will get zero mark.
WAF URF % TR diead SR 1A T § RS sE (A), (B), (C), (D) Mfba fvar T ¥ |ana2ﬁa§ﬂ€rmﬁﬁre
HR G I W FIe T T IRIT T B AR, IR TF R B/ diel @ige W F WA Y |

Each question has four alternative responses marked serially as (A), (B), (C), (D). You have to darken only one circle or
bubble indicating the correct answer on the OMR Answer Sheet using BLACK/BLUE BALL POINT PEN,
DA, T/ e TeaTeN srrar 3 Rt et o w1 wdlen gfet 3 s wlern a1 3l R
Pt % o O A A el & S v ReamuR BeR Sriad 9 SR |

Use of Calculator, Mobile Phone/Bluetooth devices or any other electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate, strict action will be taken against him/her as per rule.

I ¥} e & ford) U Sfiell Surrl # 5l WER A DR 0 A IS WHR P IR /3 B A v
PT IS WHFRDT AY BRI | _ :
If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Version of the question, the
English Version will be treated as standard. . — .
argeff TeT—aT B ¥ TR ALUANR. SR U @ Wi A wRet e R R siadias @) wig
arge anadf SfEm qve /duife FRAE & 9 B | AMTAAR. SR Uh @Y apefl BRy sirers T SIenT
PP angeff 1 T § Teh | ; .

Before leaving the Examination Hall candidate must hand over all the three copies of OMR Answer Sheet to the invigilator
without separating them, otherwise candidate will be liable fo appropriate penal/legal action. Invigilator will hand qver the
candidate’s copy of OMR Answer Sheet to the candidate after separating it. .

T WA & IR et Sl SNTHAR. SR wAE D argelf nfy werr sroh e we gReT ST Wy
o o HHA E | . o :

After the exam is over the candidates can take their candidate copy of OMR Answer Sheet and their used Question
Booklet along with them.

Do not open this Question Booklet until you are asked to do so.
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Q- Nos. 6 to 10 : Study the following tap)e (A) 586.02 T (BY  582.08 1@
and answer the ques ‘fstiionsfbas“l oL i, (©) T5004Wm@ (D) 273844 TG
E ﬁqmmﬂﬁ %Tm‘ ('61'1'@_‘6‘1'3(1})/ What is ttlxe total ex endih.lrel of the-»
Xpenditures of a Company (in Lakh Rupees) per company over these iI;erns during the
annum over the given Egri________ year 2013 7 g .
ﬁa‘“‘ %7 / Item of Expenditure (A) % 586.02 Lakhs (B) % 582.08 Lakhs
Td N FCERE E R (C) 5004 Lakhs (D) % 738.44 Lakhs
Year| O/ | e/ |9/ e | w (L T a6 % g W W pe o sl
* | Salary | Fuel ang | Bonus Interest |Taxes a5t % e
Transport on Loans H ﬁ;m' éﬂ'ﬁ 3 WA = %
20110300 | 100 [ 3 134 [ 85 || <1 STIATA SHA: T L §
2012 | 340 B 1.52 22.5 110 The ratio between the total expenditure on
2013 | 524 105 2.84 31.6 75 Taxes for all the years and the total -
;gi; igg g; égz ighj ;8 expenditure on Fuel and Transport for all the \o S
-t —= : & years respectively is approximately . '
6. 2011 ﬁ‘sﬁmﬂqam%m, 2015 § (A) 109:151 (B) 105:108 a0
S SHY BTSN T W o 2 ©) 4:7

Total expenditure on all these items in

2011 was approximately what percent of
the total expenditure in 2015 2

(A) 7033% @y 75.75%
(C) 68.33% D) 72.67%
9 T % SR 9t 1 Wiy o8 e )
i Tl fererh gerh ueh 2 | ’
(A) T26.66 9@ (B) ¥30.12rg
(€) 22.42€@ (D) T 28.82 %G
‘What 'is the average amount of interest
per year which the company had to pay
during this period ?
(A) T 26.66 lakhs (B) ¥ 30.12 lakhs
(C) R2242lakhs (D) ¥ 28.82 lakhs
7% Taft % GRH SN g seE 6 e
T 6 HA U, 37 3rafy % SR e
1 % AA 1 HoA TRT BT TF Tha
wfawa ® ? |
The total amount of bonus paid by th‘e
company during the given perod is
approximately what percent of total

amount of salary Wﬁg this period ?
sy (A 0.3% 1.5%
g‘i © 01% (D) 0.6%

o
——

AD) 15: 18

S H. 11/ 15 : T =hE 3w R gig w

Bl 3 10 T % fore Rro vt | ol =

| 9¢ SR T IR A § | (FR SR

§ S (WS B 6 T B o T e R )
Q. Nos. 11 to 15 : A person bought five cars ina
day and put on rent for 10 days. Read the table

time for car is not taken

as consideration.)
TR | 10 Rt 3
ST EU | et gt v ey
FRET AR | ST D | T et T
/ Mileage of aﬂ'ﬁﬂﬂﬁﬂ Total time taken |.
' Car Average |to cover the total
amount of |distance which is
diesel used| covered during
: per day 10 days
Freet /(25 TR /o | 109K/ | 5092/ hours
Alto / km/litre litres . .
fEaw /|22 f6. . /et | 10effer/ | 5592 /hours
Swift | /km/litre litres - : '
femmm /| 30 fpsft. /ot | 129/ | 505 /hours
Tiago | /km/litre litres - - ]
orft 7 |20 .. /0. | 25 #fet/ | 80°e/hours | -
Mini |. /km/litre litres
foag/ (25 T /=f. | 20T/ | 10092 / hours
Kwid / km/litre litres e o)

41“-— .
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and answer the questions carefully. (Standing -
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1. R 10 fodi % TR o vy | 14, R wh g 10 A A W g

aﬁwnf?rﬁmsﬁ;.xﬁ_aawmﬁm @,—@;'Aaﬁtwlﬁg’m’ 150 21 3 30,
TH BT 10 R 85 2 300 2} # 9 el &, A F A 3k gy b
TR G B 090 oy e | o o A S A |
13 forg 90 1.5, = T[T If the tota! distances covered by a| the y
_ Wmﬁ@mm% | cars in 10 days is covered by car A apg
Find the ratip of the ti car B in 150 hours -and 300 hoy
Mini to traye] 875 iy ke by car respectively, then find the difference
speed of it dup: With the average between average speeds of car A and B,
the time tak Url;ng o Biven 10 days to 1 (A) 51l /aver / kn/h
km with the I;vé:; SW'f,f,tO ravel 990 (B) 61 .. /awer / kmv/h o
: s T s A
315 g“,/’f’f‘gl 0 days ° Peed of it during ((gg))/ 28 g:g fg ; km/hkm/h B
k.t | 15. 10 Rl 3 ek foamit afk Breft g )
((2) wﬁﬁé:@/None of these ;ﬁ@%ﬁwm ?
D) 44 :47 What was the ratio of the total distance
" (D) 56:99 CX\)/ereiiSbyériago andBMinigde‘ing 10 days ?
) a'(ﬁ > - 28 :
:T%Em:ﬁ% Hiedt 3R I 6t sty §C) 9:25 ng 18:5
, WHW'W? T . 163 20 : F1 Yt v 7 s
What was the. ratio of the average speed Sl 2001 & 2006 A% B8 a1 % S TAF 4
of Alto and Tiago during 10 a5 LI 5 et v 21 i st ey
(A) 11:10  B) 25.13¢ Enﬁ‘m"ﬁmﬁa“ra?rm_asﬁm% | (a5 2000 %
(C) 10:11 M) 5:6 s.gamqa‘rﬁémmmﬁmﬁagan%aﬁt

13. e ik fiws Rw e 10 forf 3 dhg L e rar 2 )
s 208,10 to 20 : Study the following line
G 3 qﬁﬁmﬁﬁ@"@ﬁ graph, which gives the ngmber of empl%yegs
3R RIEIRC T ) el * e, 3 - who Joined the company and left the company
In the beginning of eac}’i_ ﬁ/ear during six years,

W * {N.S]IEH ﬁ@ H AR A= A B | frqdeg 1 to 2006. ¢re is no employee
Ife & HFl B % i € @ 2300 Jtlcl)zlen;eatr go%oor-r;pany or left the company during

"m X el
??’)29, fop . %,a’ramz’raﬁt%sm@—?@i 2000ﬁﬂ?ﬁ1ﬁﬁaﬁtwﬁﬁmﬁw=5ouo
W 3 ey * e S Lr sy TF qgaﬁ A o E ) S;I(I)iti‘dl strength of Employees_in 2000 = 5000 N
M@‘aré T T AR A HIfT | g = 0==s00—=60 00— =
'1'/\‘."%2& (A) 22 (B) & i T E S 00— s 50
. . 3 200
L0AC) 2 (D) 0% 5
Alto and Kwid is travelling towards each 2001 2002 “2/0(_)3 2004 2005 2006
~ other w1th speed same as their average — i amﬁmmﬁ};‘gm
-+ . speed during the given 10 days. After Number of employees who joined company
meeting, they travel to each other’s = At O T et # o
Number of employees who left com pany

starting point. If initially distance between

both cars is 2300 km, then find difference 16. 2003 % QN ot i Fia el %‘j "
.., of time taken by Alto and Kwid to reach qeEgreft: ‘ v
- ° ' their destination after meeting each other. 'I};he number dOf .em (I)%%CCS working in

S (A t ompany durin was : -’ '

x..(&)y 22hours  (B) None of these ,Eg;f Ae50 i]gg 5500

= 2hows (D) 0hour 5000 5300 .. ;L4
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18.

'

W 9. 219 25 : €8 Ao 1 AEEH HL 3N
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Q. Nos. 21 to 25 : Study the bar graph and
answer the questions based on it. '

,;@0‘*\

2003 7 SHoeft § w0 A e
s, 2006_ﬁ¢qﬁﬁ¢m¢éa@m§
‘ﬁlﬂ@nmaﬂmﬁmﬁmﬁ ?

¢ number of employees working in the
company in 2003 was approximately what
percent of the num

nt | ber of emplo
working in the company in 2006 ? ployees

(A) 96.15%  (B) 97.35%
© 9375% /(D) 98%.

@ 72 arafer & o fored oft o 3§ s i
e B At FHenfEl 6 =@ @en
T U Bl a1t shitenfedi Y arfrray
AT Y 31T R ® 7

The ratio of the least number of
employees who joined the company to
the maximum number of employees who

left company in any of the years during
the given period is

(A) 14/13 B) 9/13
<© 9/17 D) 12/17
form S i ot and < o 3 Sl o

et et i Ten § wiov ofe /
ot AT e 7
For which year, the

in the number of employees who left the

company compared to the previous year
is maximum ?
2004

(© 200 (D) 2003

2002 & 2003 TH HHATRAT h1 T H
w fekan wiorera <6t afig /afi 88 7
The strength of employees increased /

decreased from 2002 to 2003 by
approximately what percent ?

) 2% (B) 4% (C) 1% (D) 3%

e (A #)

Production (in Lakhs)

e &gt # woe gro et = gwmRA (T )

roduction of Toys by company (in Lakhs) over the years

H O 0
B22835 8.y

1 2012 2013 2014 2015 2016 2017 20
. ud / Years

08
axis

201 18

ercentage rise/fall T

21,

22,

23.

24,

25.

——

2011 < qor # 2018 A RaeiAi & I
T T wiaera gig, Rt ot ?
What was the approximate percentage

increase in production of toys in 2018
compared to that in 201 Y?

(A) 137.5%  (BY 111.11%
(C) 18333% (D) 128.35%

fros o8 6 g § fee o veareR #
wifereral gfg T atfs ot ¢

In which year the percentage increase in

production was maximum as compared
to the previous year ?

(A) 2013 (By 2017
(C) 2012 (D) 2015

T S RO
T 9| < 3T IS § AT o ?

In how many of the given years was the

production of toys more than the average
production of the given years ?

(A) 2 B) 4
©) 1 D) 3

2013 ¥ 2014 7% RadE ¥ I F
e wicrera e fopea off 7

What was the approximate percentage

decline in the production of toys from
2013 t0 2014 ?

(A) 15% . (B) 25%

©) 10% (D) 20%

2015 3 2016 1 oftgd IaTGH
frafafea & & forg aut & gm & aftga
IeqTed & fereTshet SaR o 7

(A) 2014 3R 2015(B) 2014 37K 2016
(C) 2016 312017 (D) 2012 31K 2017

The average production of 2015 and
2016 was exactly equal to the average
production of which of the following
pair of years ? -

(A) 2014 and 2015(B) 2014 and 2016

(C) 2016 and 2017 (D) 2012 and 2017. .

04
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(726, Trafafaa § ) B ' :
A & = § Rerepr 7

"Moo

(A) 3T T31e iy

B) YWEE

(©). AF THTe v

(D) im §g
Who among the £,
whose name was
Piyadassj < 9

(A)  Mauryan Empe - '
(B) Lord Kdahaviferor “handragapta

(©) Mauryan Emperor Ashoka
(D) Gautam Buddha

llowing ig the person
also ‘Devanampiya

(A)  3rHaR (B) THAE

28.

E

. (D) 3N
The pietra dura or coloured stone inlay

work on marble became very popular in
the days of

(A) Akbar (ﬁ) None of these

(C) Shahjahan (D) Aurangzeb

freferfaa § & fem g i ata o Tgelt O
Topar mam o 7 |

) RERUISI g (B) e g

In which of the following age copper
was first used 2

(A) Mesolithic Age

(B) Neolithic Age

- (C) Chalcolithic Age

- 29,

(D) Paleolithic Age

fefefen § ¥ e wm T wm e

Tt o1 TR R T o
(A) e @By el
(C) T (D) TR

The first Buddhist Council was held at
which among the following places ?

(A) Kashmir (B) Pataliputra
- (©) Gaya (D) Rajgir

30, < T A H O, PR

31.

32.

"6-5_04\\‘
ARE
frm g wEwd T g N
3TGrer1 i heel Jel dh RUERER: W
Tore Tl fepam & ?

(A) dfedr wETs

(B) TTH A RS &l

«% s

(D) HEH HM@T ‘

During the Dandi Salt March, which
among the following social activist hag
persuaded Gandhiji not to restrict the
protests to men alone ?

(A) Pandita Ramabai

(B) None of these :

-(C) Kamaladevj Chattopadhyay

(D) Madam Cama

S %R S s 1 v g, T BIG
R FEferfad # & e e o 7 [ORE
() TaERe  (®) e g
(©) AdEEe  (py et HHTE

When the East' India Company was
established, India was ruled by whom
among the following ?

(A) A Gupta Emperor

(B) . A Sunga Emperor

(C) A Maurya Emperor

(D) A Mughal Emﬁeror ,

Toreh g & R T o ¢ -
(A) fermT YR o

(B) emﬁ‘fqﬁm

(C) wm.s. mieft

~«D) AR T

The Bhoodan-Gramdan movement had
been started by whom among the
following ? |

{A) Vinoba Bhave

(B) Acharya Kripalanj

(C) M. K. Gandhi

(D) Jayaprakash Naray_a_n

-
Taina
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34,

35,

LA) e ST U
(B) <Ig¥RaR TsIIE
© guwEzam

(D) ¥ g

Who gave the famous battle cry ‘Chalo
Dilli’ ?

- (A) Lala Lajpat Rai
(B) Chandra Shekhar Azad
(C)  Subhash Chandra Bose
(D) Bhagat Singh _ :
TEAR H TRel Ty sy Frsfifen
o & Tra shifa Fao g o
(A) 3irenfire wifq
_AB)  ThIEE shif
(©) Al wify
D) wHwmifa
The first clear expression of nationalism

came with which among the following
revolutions ?

(A) The Industrial Revolution
(B) The French Revolution
(C) The American Revolution
(D) The Russian Revolution

TR < freferad § 3§ frg stfufem 3
- B SER § fiu g o fmforgan 2
AR Tl e s, 1047
(B) Ra & stffaem, 1935

C) [AFT

(D) frmfem

Which among the following Acts of the-

Government led to the creation of the
Sind Province from Bombay ?

5-

36.

37,

- 38.

39.

(A)  wrEdesto
4y

e LT

';ﬁtﬁammmmm@m)

MR |
(A) 4% _(.B»)/B%‘J%
(C) 7w O sl

D
Indian Sta_ndard Time is ahead of
Greenwich Mean Time (GMT) by ‘

(A) 4 hours B 375 hours
(C) " 7 hours D) - 515 hours

Tr=fofen # @ 25 SEE e =)y
,-mmmaﬁhwqﬁ% ?
(B) 9Tt At IueTeeran

(D) sfemfiewtr
Which .of the following is not the
economic factor for influencing the

population distribution ?
(A) Urbanisation

(B)  Availability of water

Minerals
(D) Industrialisation

& du R |
(A) NG AR (B) 30 & 7y
<C) MA@ 3R YoM (D) 1t 37k s

Mount Everest — the highest peak in the

world is located between |
(A) India & Nepal (B) None of these
(C) India & Bhutan (D) Nepal & Tibet

 Frefafed # & w3 “STRE i T

T HATFR ? |
L) A 5 T 3 Nt et s eE
B) MIARgFEAT

C) 3= 3:I\U\§,‘ﬂ_ 1 @'ﬂ'@'{ﬁ E"I.I_qu\l-'-l

D) F=amegad By ey
Which among the following is the main
reason for “October heat” in India ?

o o A) L essure system in Gangetic

(A) In-dlan Independence Act, 1947 (4) , pl(zaﬁspirn India .y' ) &

('B) Government of India Act, 1935 (B) Hot and dry weather :

(© Wavell Plan (C) 'I;igﬁlhtem%?rature associated . with
: - ' ‘high humidity _

(B) Cripps M1551§n | (D) Low velocity winds

b 04
Lii |




40, - e off Rrepreiier arwferawen % wifes | 44. waﬁﬁamﬁmﬁ%
i, e AR N PN
weiferel B 8 | (By TSI TEH
(—f‘é) et @B) T S Eé)) Wﬂgﬂﬁ (D) SR
At e Iﬁ the Union Executive of India, Who

41.

‘At the initial stages of any developing
economy, the majority of activities
belong to the _ _sector.

(A) Seécondary

(B) Information Technology

(C) Primary =

(D) Tertiary

frafifaa § & @9 @ gRa
Turifer =t e 2T ?

hifd <h!

A) Tl IR AR digehmft

- (B) T

42,

43.

e
]

(©) F= 3t & et fopwsti <6 <
(D) |

Which- among the following was a part

of the green revolution strategy ?

(A) Chemical fertilizers and pesticides
(B). All of these

(C) High yielding variety seeds

(D) Irrigation '

) @R (D) EE
Which of the following rivers is known

~ as the ‘Sorrow of Bihar’ ?

(C) Hooghly:

(B) Kosi

(D) Ghaghara

e i e el ) s
e i & frap g d g el ¢

(A) Damodar

A9 T % Sgatd
@®) fmw@re™
(C) faaara

(D) T foreprdl UiE

The final ‘approval to the five year plans
of India was given by whom among the
following:? . 2 of g, W '

(A) Vice-President of India

Ministry of Finance =

_ (€) Finance:Secretary

- National Development Council

45.

46.

among following is not included ?
The Vice-President

A) ,
(B) The Chief Minister of States

(C) The President

(D) The Prime Minister

frffaa § 4 HH T AOSIH 96 T
27 | |
a{ g U1 o %C

®) Rt ‘

(C) WIHg ®e &

(D) TS, 3. . TS, &

Which of the following is not a
Commercial Bank ? -

(A) HSBC
(B) SIDBI

(C). State Bank of India

(D) ICICI Bank

e § o & Gt a1
I THG % qEd TH TRy SR A
Fefa e e 7

(A) T swEB) FHAFET
(©) Auifs frm (DY Wi

Which one of the following public §ectof
undertaking is established by passiis .
special law under Parliament ?

(A) Departmental Undertaking
(B)
©)
D)

None of these
Statutory Corporation
Sole Proprietorship




47. 5 @ frd feet B3 .
7 - 2w | 51, =i o w3 Pk § 2 e

¥ 3= e zerifa :

WMQ ? N ST L ST e & 2.

(A) G AR @ wAITEE | ‘1(2 12% ® T

©) J (D) % Pneumon{a ff (tD) ??_dh

Who among the following has the right i : affects which of the

to set up a High Court in any Union (OAl;OWI:i ri)ea;rt of h\gx)an ;cht ?

Territory ? ‘ s .

(A) Supreme Court (B) None of these (C) Lungs (D) Liver

() Parliament (D) President 52. ﬁmﬁa@aﬁﬁaﬁﬂwmﬁ% § ;
48. F & wF ar Jgeea W “(A) & o

p’rﬁmﬁﬁaﬁawzﬁmﬂ (C) e (D) A
. W%aﬁﬁ%? | Which among the following is not a
“ . Which of the following article is about plant fibre ?

Establishment and  constitution of (A) Jute (B) Flax

Supreme Court in Indian Constitution ? ’ (C) Cotton (D) Nylon

(A) 120 ) 124 L : |

& 118 (D) 122 | 53, mﬁsﬁriﬂﬁmﬁfﬁaﬁﬂﬁmmﬁsﬁ
49. _%wwﬁmaﬁaﬂ{aﬁm HATR ?

(A) <99 (B). ARG

FO I TRGE | e _ ‘
) sRem=mEE 1 €y S8 aE (D) qeeft agl

The colours of the stars depends upon

- (B) sﬁlﬁ @Iﬁbﬁ'ﬂﬁf ‘
10 Gee TeE . which of the following ?
(D) -(rgq'ﬁ[ Y ' (A) Pressure
I / has/have the power to (B) Pollution of the air
jmplement the Fundamental Right. , (C) Its temperature
@A) ;Iqhe Sul}n:hnzfom‘f PN C— (D) Distance from earth
o one 0 _ e ,
(C) Members of Parliament 54, Fyefafaa § @ w5 @ e FIffn &
(D) The President . : foqu RrfigR g 7 . :
s, W 3 TR SR _(X) Gdifsa arephas bics|
ﬁﬂmmiyﬂﬁq%f (B) - 3iadisI T
MTEW (B) ﬁﬁqﬁéq‘{f ©) fesa 14
() e ) e 4. W TS Pl
In India, The National Hgmzn - g tht: Which among the following gases is
Commission 15 u;lder whic responsible for global warming ? -
following ministry ¢ : . (A) Compressed Natural Gas
' ( A) Ministry (})1f sI-iome Affairs A (B) O'xygen s
None of the (S Greenhouse Gas .

®)

- . (O Defense M.in.istry . .
k‘ }D) Finance Muus'gry _ | (D) Piped S |
,.__.._-..--«—-—-— v 9 ' s .




Ll

(;)\.0051);+(0.041)2;(0.01073)2' () T, FgToft, ar
(A) ‘ (B) 1000 @ G, B,
(9 1 (D) 100 oL .
. . . ‘ /(Q’/aﬂa, Wym
56, 40% SAfh GAFER-TA X Tgd 8 37 50% - P
s (o TNF FAER-1 Y Ued & | 10% =afn (D) mw, ‘
o(o( M FHER-7 9d & | fera =afs <1 1
‘3 ;80T YRE AR A TRl Ygd & 7 62. ﬁ?ﬂlﬁﬁmﬁﬂéﬁﬁﬁhﬂ‘w% T
0”1a ,  40% persons read newspaper X and LA)/ e - GUaA
50% persons read newspaper Y. 10%
persons read both newspapers. How B) e -
many persons do not read f th NF - g
ﬁ/- newspapers ? | a;j":)]‘ egc € fifvg-g=s : %F'
h @ 15% (B) 30% »¢):95k1| (D) R - GTgd | El'h-_
NQ-‘\“ 3\/“’ ©) 25% 20% a Yo < 9¢} );1{ ' o 4
m o T} 63 ‘@ﬂﬁﬁgﬁﬁm’-a@'ﬁiwaﬁ%:
o« 57. , e
\\\ ‘The average of 5 results is 46 and that of (B) SUGIHEAMI |
213 ﬁr::) four is 45. ("131)6: ﬁ::)hresult ig .. 1 /(6) VIET 83U G TH: 1€ 3T |
p D) 12.5 D mwaaraﬁﬁﬁaﬁwml A
29, Gne e
e V298116 +/77.44 = Lenth T wwaﬁaﬁﬁﬁaml (Qv
) 12,62 (B) 14.62 (A) W+ 37 at\ efg
(C) (1226 (D) 14.26 (B) e+ h\&\k |
59. mﬁﬁmfﬁ%ﬁwﬁ*{f@aﬁﬁmﬁ /ca/nmaﬁ& /ﬁ/
kAL (D) #fE+=Ry |
W ) RS -
| © ¥Ew ) 65. mﬁmﬁw-wwaﬁﬁaﬁ
X Plant cell wall is made up- of what E T8ie ?
among the following ?
D . % s
f (A)  Glucose  (B) Fructose Q]E-grq -3 ,
H (C) Cellulose (D) Sucrose (A) :ﬂﬁ?{ I g -
' (©) -_aia 1%%‘81 Hl ,
@y e - e g - B

0.05) ¥ (of/Q?/v‘— (o oF3) &
; Ocas_,j d—@»c”)'l»r— oco”(}p

o

o YR

(0.05)2+(0.41)2+ €0.073)2

55.

61. T faraped H ] F1eq TN 8
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E

' a child

.~ would be a lot ©

A
U

Read the passage carefully and answ
corresponding questions : (0. 56 snd 6‘?7]; the

Last week Caroline went on her fi

fishing trip off the coast of Catall‘?ll‘:lad i?faﬁfia
She had always enjoyed fishing when she ot
but had never g0D€ fishing in the
or dad liked to fish very ofter. Her

big brother Jack was never the outdoor type,
so her dad took her out often. One of his
favourite spots Was Lake Isabella, which was
about two hours from their home. She recalls
how she and her dad would spend a long,
driving to the lake, and then

he water. It was

leisurely day
taking his small boat cut on t
ful for the most part. Those

ocean. H

quiet and peace

memories remain some of her most cherished

moments of her life. Caroline has a friend
bert invited

On this day, Ro
n him on his company’s fishing
wouldn’t cost much but

called Robert.

Caroline to joi
trip. Robert said it

figured she would

enjoyed lake fishing and
said Caroline, and

have a great time. “Qkay”,

to the ocean they went.
The first thing Caroline noticed, however, was
the motion. «yow, this boat really rocks”,
Caroline told Robert. “Don’t worry about it.
You will get used to it”, he said. The trip to the

and took about an hour.

waters off (Catalina Isl
Caroline marvelled at how quickly she lost

sight of the mainland. It was bit scary when
she thought about how alone they were in this

great ocean. Soon, it was time to collect squid
for bait. The small boat stopped in the water
and the crew turned the bright light into the
ocean to aftract the squid. Before long,
thousands of squid rose 1O the surface and

d for bait. After about an hour,

f fun. He knew Caroline

67.

68.

. \\
69. TH

70.

71.

72,

Why were the squids coilected 2
Eg) Buswilling () X baiting

) Foreating (D) Forcooking
Give one word substitute for —
“The practice of writi i
compiling dictiona.ties?’g’ i and. for
(A) Lt?xicography (B)~Psychology
(C) Biography (D) Philology
\ H%F—n £ it 39 FW ge, Few ¥
a1, “ag 0 deh % g T
afgen e
@y -
o T RS
woman, Nilesh said, “She
ijs the only daughter of my wife’s
grandfather’s only child.” How is the
woman related to Nilesh 7 (e
(a) wite @) Daughter [/~
(C) Mother (D) Aunt - Q

areiTq 3Tt /Find odd one out :
8,27, 64, 100, 125,216, 343

@A)’ 100 T (B 33—

© 27 - (D) 12§/. ,

1 SFed, 2006 =) TRaw o1 | 1 S
2010 <! THTE 1 1 1 a7 o1 7 E’,
(A) AR (B)  FETIR— =
(C) HHaR (D) WrER iy

It was Sunday on Jan. 1, 2006. What was
the day of the week on Jan. 1, 2010 ?

(A) Friday (B) Tuesday
(C) Monday (D) Sunday

Give synonym for the word : “Partial”

Pointing to 2

Caroline didn’t feel the rO

anymore. They were ready to fish. Caroline

caught ber first ocean trout. It was 2 beautiful (A) Intact (B) Unbroken

. day. ' ' ‘ © Incomplete (D Perfect

66. * Was Carolire’s prother an outdoor type ? 73, ,Choose the correct antonym : “Disappoint”
(A) No Can’t say . satisfy . (B) Meet :
(C) Yes () Notspecificd (C) Sale (D) Example
= 11 |




74,

04

TrefeiRea w1 A wue feg T € 3R =

ﬁw%rﬁaaﬁﬁm%ﬁm zozzﬁ

: . 76.
Rl < TG Fshd Fehrel U E | freme AT 3 TEYTE AT A b T
%1 Ug 3R TR 77 =t fop fa e froset & 1 8=y 3w fohen 7
H B |1 foeehe qrar w9 Y 1A e bl @ T (B) =M
ytarg feu femr few g et @ afdhes w9 ©) =4 (D) SSIUSA
R . HAE | : Which among the following countries
Y : ot fepare 9W & | R3] TR S conducted its largest-ever military
HECEAENSEE ) exercises around Taiwan in August, 2022 ?
freg - | (A) USA (B) China
MR . o (C) Russia (D) Israel
I JoTdAfhaE g | . :
I @%@Iﬁm% | 77, 3T, 2022 H, WRA i gl HSEX
e . ﬁ@wmﬁmﬁ@aﬁﬁﬁmmﬁ
. FfeadsHad | Rpa T T 7
IV. g@ﬁmﬁ%ﬁ‘g%l «(A) E&T _ gg) %m
(A) ®II (B) FTHIAPETE (©) FEFEE (D) R
(C©) Faal (D) Fad III In August, 2022, India’s first u.nderwater
In the following question statements are rfntlalﬁro was _n}augmraﬁed in which of th(_:EI
given and these statements are followed by allowing citles - '
conclusions. Read the conclusions and then {(A) Pune (B) Hyderabad EEE
decide which of the given conclusions & (C) Kolkata (D) Bangalore
~ logically follows the given statements, et aﬂTﬁﬁ
. disregarding commonly known facts. 5 B T ﬁjs ﬁ;h;g ;‘Fs?[ ® e
Statements : All the books are papers. (A) ToTEE =
Some papers are journals. Some journals ' AB)
are calendars. ; (C)' LWL (D) HAET
Conclusions: Which among the following country’s
' g scientists have prepared first synthetm
- 1. Some journals are books. embryos ?
II. Some calendars are papers. (A) Israel (B) China
III. ' Some books are journals. ~(C) _USA (D) Canada .
IV. Some books are calendars. '79. T T W Y ﬁ'l:ﬂ%ﬁﬁﬁ 3 3 frg
(A) Onlyll  (B) Noneofthese I TS # IBX (fem Rﬁma gf?rzﬂ
(C) Onlyl ~ (D) Onlyll ) T R R 7
- - : A) WENY B) IIRE
75. &% NORMAL %I RPNLBM & &9 # EC; Lol ( )) -
~ wifea foan ST 2, G GATHER &1 %18 i . v Modi has
W'@Fﬂ ? Prime Minister Narendra Modi
. launched the IIBX (India International
If NORMAL is coded as RPNLBM, then Bullion Exchange) in which among the
what is the code for GATHER ? following states ?
(A) TBGRFH (B) TBGREH (A) Maharashtra (B) Uttar Pradesh
(C) TAGRFH (D) TBHRFH (C) Goa (D) Gujarat -
12 L

oR N
ﬁ;@u%ﬂ»

grHEs
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80. STISITGl T 3T HEleHs % q5d ‘5@ ==’ | g3 Frafefag # & <9 @ wsa W #®
H&faﬁﬁw%ﬁag?ﬁﬁmaﬁﬁaw TR STet’ WATiora Tt s TN R ¢
ERIFPIRTATE | . ¢ WS (B) IO
/@() fugn warerd (B) e Hamerw (C) TEn (D) TSI

T e AT ' Which among the following states
© g (Dalx njlfnder Azadi k became the first ‘Har\Ghar Jal’ certified
‘Badhe e car;:ps geen launched bal | S el g '

i Arr_mt Mahotsavha following Centra); (A), Kenala (B) Lktaichand
which a;nong the (C) Goa (D) Rajasthan
Ministry ‘ ‘ _

(A) Ministry of Education 84. TrafeRaa & & S Wra 1 FSIE < -
| s 1 Affairs q7 ,
(B) Ministry of Externa .
*(C) Ministry of Culture A =R - (B) ‘”E'ga
(D) Ministry of Home Affairs (©) =™ ). AR -
: - Which among the following is not a
81. WRAW™ &A1 A @Eﬂé, 2022 # neighbouring country of Indla'?
e U TREE WA IuwE HEAR S (A) Myanmar (B) Maldives
%7 ST foaT o | ~ (C) China (D) UAE.
g/@’aausa B) FHARCTE | g5 frofafeg § ¥ e 0T 3 WRdE mﬁg
whgee (D) TOemEE /-1 el sl 371 g o feTT ¢ Al4Bharat
The Indian Army had conducted a pan- T it ey’ T eI HE?
Indiadsatcllite cori?lr?ltlllnicggg; exercise ' /(ﬁ IIT SR (B) IIT HgIE
N o o -t (©) UT&uemg (D) 1T a7,
- (2] Bpueslight () Nensolfhese & Which among the following IIT has
(C) Skylight (D) Moonlight fﬁ;npfﬁed the ‘Nilekani - Centre at
: ] N arat’ to advance Indian |

82. WRd % {3 o W& & S “ITHET TR technology ? &y 1 nevaee
= TEell 3 "'_*‘3_'%'5'_'3“%“"‘" d | (A) 1T Kanpur  (B) IIT Madras
A) %aéﬁgaé . | (C) IT Hyderabad (D) IIT Bombay
(B) 3TEHEETE § T& 86. T8 F@ 3h B sremer F s F
(C) VEARH feeeht S et gl B Tkt 3wl e
(D) ¥« A STEUGETG @“élq TR ST fper 2 2
First flight of “Akasa Air” had been } (&) AMAIE  (B) TgHd

E! inaugurated between which two cities in | €y wfa s (D)  FFFT 3T

=A% India ? . _ A Na?ional Conference  on Drug
(A) Chennai to Mumbai : ]'frlagﬁ"kuzg ﬂgtii] I\(Iiational Security was
S at andigarh' " und
(B) Ahmedabad to L}lcknow chaitmanship of which Union l\digster ;he
; (C) Jabalpur to Delhi : (A) Amit Shah * (B) Narendra Modj
(D) .Mumbai to Ahmedabad : (C) SmritiIrani (D) Anurag Thakur .

o

13
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87.

88.

89.

90.

91.

@

aﬁ%'wﬁwwwﬁﬁ

AAH A R |
(A) 219§ (B) 304
(C) 18ad APy 2594

is the minimum age for
holding office in the Lok Sabha.
(A) 21 years (B) 30 years

(C) 18 years (D) 25 years
sictigt S Rl few frw e @
T ST R ?

(A) 138 B) 107Es

(©) 2273 (D) 15 feger
International Day for Biological
Diversity is celebrated on which date ?
(A) 1 April (B) 10 November
(C) 22 May (D) 15 December
frerteRea & @ 99 w1 fea 1 g9 591
TIEIR ?

(A) "FgUET (B ‘TIE‘I,Fﬁ?ﬁ‘T
(C) shvm gy ) Aq e

Which among the following is the ¥

largest river island in the world ?
(A) Manpura Island

(B) Maijuli Island

(C) Srirangam Island

(D) Lulu Island

frfafeg d 8 gl K W g E g 7
(A) TIEA W (B) 30 & g 7l

AC) & amgu (D) e de

What among the following is the
national currency of Hungary ?

(A) Hungarian Forint

(B) None of these

(C) Hungarian Naira

(D) Hungarian Pound .
T 6 TG MINT & JTUR R &1 M &

TE T <1 19 941 | -
(A) FwwE@  (B) T
(C) wemy (D) &t

Name the first state in India formed after
independence on the basis of language.
Andhra Pradesh' (B) Goa
abmshtra - (D) Kerala

92,

23,

94.

9s.

frefifag # & fred 9ffg IR Ty
31iH g wEe’ fordi @ 7 |
(A) wer T (B) gAY R
(C) @i fEdEg (D) ToR
Who among the following wrote famous
book ‘Powers of the Mind’ ?

A) Mahatma Gandhi g

EB)) Rabindranath Tagore _n%’% :

(C) Swami Vivekananda o)
(D) Gulzar ,

UNFCCC w1 31 frefefgq g @ s g ?

(A TSRS N FSWH HewH A
ENIEECACE

(B) IATEE UH HEWH HE 3
- FATEHE O

(C) FITEeE AN WhHEh
FARHS O

(D) YATELE AN FHAh HEA HA

UNFCCC stands for what among the -

following ?

(A) United Nations Federation
Convention on Climate Change

(B)  United Nations Federation Council

. on Climate Change T

(C) United Nations  Framework

Convention on Climate Change

(D)  United Nations Framework

Council on Climate Change

el refafaa & & e ose w1 d
TR ? |

AK) IHIE  (B) YW

(C) = (D) FAleh

Nautanki is a folk dance of which among
the following states ? K

(A) Uttar Pradesh (B) Andhra Pradesh
(C) Kerala (D) Karnataka
g e aify w1 qemwE
_H7| |
(A) 4WEL ' (B) THHHETE
) feds () w

The - headquarters of International
Olympic Committee is at

(A) USA (B) None of these

(C) Switzerland (D) Germany". v M

~ gy
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